3 (Sem-6) STS

2017

STATISTICS
( General )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

UNIT—1
eS—>

1. Answer the following as directed : 1x10=10
were AR Aot e o

. (@) Sample mean is always consistent
estimator of the population mean.

off e g IR TR W R o |
(i) True/%
(i) False/%7®] -

(iii) Partly true/=mR < 39
(Choose the correct optmn)

(o= BBt AR Tferear)

A7/626 - ( Turm Over )



(2)

(b) The term ‘CL’ denotes either of the two
control limits in a control chart.

g Frge e @R R @ oo

e e ‘CL'R o1 =/ |
(i) True
o)
(i) False
(Choose the correct option)
(wm Teach! AR Sfeiean)
(c) All OLS estimators are linear
estimator.
A OLS WRATTR 24 (AR AT |
() True -
R
(ij) False
TS
(Choose the correct option)
(W% Tacht iR Sfenear)
(d) What does the term FORTRAN stand
for?
FORTRAN 70”51 f& 2
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(3)

(e) Which of the following diagrams is not
used in statistical quality control?

AR @9 fagre wem @ Ba

IRZA T 2 '

(i) R-chart
R-%foq

(i) X-chart
X-usfoq

(iii) Pareto diagram
RO o

(iv) OC curve
OC &I

(Choose the correct option)

(% TSIH! AR Sferear)

(# X T and T, be any two unbiased
estimators of 0, - such that
V()< V(Ty), then is the more
efficient estimator.

T, T, 63 R G 951 TS s
WIS V() <V(Ty), (B ____ Q@R ww
A 2 |

(Fill in the blank)
(<1 31 “[&<T )
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(g)

)

A7/626

(4)

State whether +145-8E is a real
constant. ’

+145-8E '«.ﬁ;r T FIF A ?
(Write Yes/No)
(= /= foran)

The more efficient estimator of
population mean for normal
distribution is

maﬁawﬁwmmaﬁww

EX

(i) sample median

oif S Jur

(iij sample mean

oS T
(iii) Both (i) and (i)
() ST (ii) TSER
(iv) None of the above

@9 bIS N
(Choose the correct option)

(wm Taacer AR Serean)
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(S)

(i) State whether COUNT is an integer
variable name.

COUNT *[%(5! WS 5e1q =Y 23 I ?
(Write Yes/No)
(= /=y for)

() The UCL for an R-chart is

R-fo@¥ UCL '
() RDy

(i) X+ A,R

(iii) RD, .

(Choose the correct option)

(o= Texeor AfR Sfeear)

2. Answer the following questions in brief :
2x5=10

To 2P Y Tad ford ;-
(a) What are the uses of econometrics?

RS IR o
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(b)

(c)

(d)

(e)

A7/626

(6)

State the properties of good estimator.

ST WP TR o o

Differentiate between ‘process control’
and ‘product control’.

‘eiffF fmae’ s “Seoms fmgers <14
feran

Write about the two types of
expression defined in FORTRAN.

FORTRANS JRZR Q@RI [ R[M[ o™H
foran 1

Write the correct FORTRAN
expression for the following :

R FORTRAN 3P ® W3 16T f&l -

(;_ljix2i+l/2y

- ( Continued )



(7)

UNIT—2
Cofo—R
3. Answer any four of the following
questions : Sx4=20
@ R el st epE Teq o

(a) Write down some 'appl.ications of
C-chart in industry.and commerce.
IS WF SR ovae  C-RPad
2ATAPTR forar |

(b) Give a brief idea of software and
hardware of computer.

ﬁﬁmmeWw
g fwar |

() What are the statistical assumptions
of linear regression model?

e cmEEd  wWRY ReTRER
wfeazE 6, o

(d) Write in detail about FORTRAN
constant and variables.

FORTRAN?WW{WWWW
1%1?ITI
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(8)

fe) Obtain an unbiased estimator of 62,
where 0 is the parameter of the
binomial distribution.
maﬁﬁ%ﬁmmei’me%

ST ST e 11 1
UNIT—3
esiiE—o
4. Answer any four of the following
questlons - . 10%x4=40
wol R @1 wif¥bt 2R Te 1%r=n

(@) What are the rules to be followed in
writing Do loops? Explain it with an
- example.
Do loop (R 2¢(® IRZA A1 fapiz
o %, ot T siIwe I 41

(b) What is control chart? Describe how it
is constructed and used.

frge i<oa I B 3o 2 R -2
wF AR TS IZAR o |

A7/626 | - (Continued )



(0

9

Let xy, x5, .., x, be a random sample
of size n from a large population
X1, X2, .n Xy of size N with mean p
and variance 62, where

N
A

=
1}
=
3

%
.II

|...
M;

]
[
[
i
x
[
X
]

Then show that the sample mean is an
unbiased estimate of population mean
but the sample variance is not an
unbiased estimate of population
variance.

@Bl n SR AHE ofria (P
X1y X0y eeey Xy s R N SRR =R b
X1, X2y ooy Xy oAl IR (0% | G B
Y u ¥ PR 62 T'®

Xl
I
-

ks

- W
E.

n
[§]
I
-
Cog=
N

P~
|
[y
o)
X
I
Xa]

L (O AN T @ dfoef T iR wigR
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mﬁﬁ@wmﬁ@ﬁ%v{mqma
PN TSN HF 72 |
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(10)

(d) Write a computer program to evaluate

(e)

A7/626

the following sum :

. oa
=E—{_1)—X1forn=1t010
n(n+1l)
were il QIerTeIch SfemRie bl IR
o2 (oY I IS
n o .
nin+1)

From a sample of 20 pairs of
observations, the following results are
obtained :

20 @R TFH A ToT© fwal SAPTR (ol
LU E

*X =186-2, £Y =21.9, £(X - X)? =215-4
Tv-Y)?=869 Z(X-X)¥-Y)=106-4

(i) Estimate the regression line of X
onY. '

YT 89F® X ST a41 el 39 |

( Continued)



(11

(i) Estimate the regression line of Y
on X.

XTSRS Y9 TRRT 91 Py 3041 1

(ii) Compute the mean value of Y
corresponding to X =10.

Y3 5% ¥ g o9 @afem X =10 =1

() What is meant by ‘guality’ in
statistical quality control technique?
Discuss briefly its needs and utility in
business and commerce.

TR @ P e ‘e T B
[|? IPT WE T@WIR (FIO ZWR
AT SF IR o1 32302 ey |

* % %k
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